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HILEE 6 8 15 13 9 51 1
B K /MK 2 8 10 8 8 36 2
EARE 9 10 4 2 7 32 3
BEZE 7 1 2 13 6 29 4
NGB 1 8 2 1 4 16 5
BEAX= 5 2 2 4 1 14 6
LA 9 4 13 7
mLh=5% 2 2 2 2 5 13 7
SR 5 7 6 13 7
1ER 6 5 1 1 13 7
wheXE 2 2 2 1 3 10 11
R 1 2 2 3 1 9 12
HH 1 2 2 1 2 8 13
BRE= 1 4 1 6 14
#IF%IrE 4 1 5 15
BIERE X 4 1 5 15
TR 2 1 1 1 5 15
RMEE 1 1 2 18
FITESES 1 1 2 18
FE 1 1 20
EE 1 1 20
#IF% BAE 1 1 20
KEFIE 1 1 20
BXS5% 1 1 20
BAR 1 1 20
E RPN 0 26
FLIREER 0 26
wLELE 0 26
A5l 0 26
SIFREE 0 26
NG 0 26
NS 0 26
EEITE 0 26
it 0 26
HEGR 0 26
RPNl 0 26
EES 0 26
w5 0 26
bR 0 26
Bl 0 26
hiEmEE 0 26
et 0 26
L2EEXA 0 26
ZE 0 26
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BiEZEE 2 7 8 11 13 7 48 1
LIfzth 8 9 12 8 6 1 44 2
thE 12 2 4 5 4 9 36 3
B K E VIR 4 14 10 2 1 31 4
1= 1 1 2 10 9 4 27 5
EARE 2 1 2 9 8 5 27 6
GalIN-E 3 10 7 1 2 6 26 7
G/ NE L 2 5 3 2 8 20 8
PR 6 2 1 1 10 9
HEZMR 3 6 1 10 9
NG 2 1 3 4 10 9
wIh=5% 2 2 1 2 2 9 12
HiREEF 2 2 1 1 3 9 12
HEX= 1 1 2 2 1 7 14
HAE 1 1 1 2 2 7 14
=H 4 1 1 6 16
HisEE 5 o 17
EERE= 1 2 1 4 18
$IFREATE 1 1 1 3 19
IN=E (4 1 1 2 20
HILIL 1 1 21
BLEAR 1 1 21
F= 1 1 21
#IERIL 5 1 1 21
=T 1 1 21
FSES 1 1 21
iR 1 1 21
HLIE 28
ST 28
Z% 28
EE L 28
HIRSE 28
PR T 28
NEFITE 28
BA 28
EEEE 28
BRI 3 28
BRfE = 28
EI=E 28
EE[4 28
EFPR 28
BA4% 28
#E 28
BRI 28
W E 28
ELdt T 28
Ri& 28
BEETE 28
FHE 28
FH=m 28
[kl 28
B BRI 28
MLy E 28
KF 28
BeEEE 28
=it 28
B 28
REE 28
hiEEE 28
i 28
BIE 28
=3 28
EHMIE 28
— = T¥ 28
g 28
EFME 28
= KK 28

E,ﬁoﬁg—em BEOMLUAIZRY LNMABEDZ LV FRE LMET b, TDREIL. KU ENEAT B

o
FaT REELARISANTIE VS ARINZEEIRAS A5 Ll REEHET /lh ik EH L1 2



